SHM6E12H 15T EMTRES HEER

ELHERXEEEESR CETEEEE e . T o 200588 T

w 5 SEIRE (N) | TEEBERE (N) | BIEATIRE (N) T EERE(N) N omE BiElE—EE

pEx| mEF4e | SOAEERO A) (B) ©) D)= (A) +(B) +(c)| & F F (% r = E (%)
E:) £ &t E;) E:S &t E;) E:S &t E;) E:S it E:) E:S &t E:) E:S it % E A 53 £ it
1 E &P 3,869] 4,277] 8,146] 992] 1,042] 2,034 41 61| 102] 682] 857] 1,539] 1,715] 1,960( 3,675] 44.33[45.83[45.11| E:ithi{&Fr [36.86]37.97]37.43
2 NREE 2.682] 3,072] 5,754] 759] 898] 1,657 0 0 o] 389] 499] 888] 1,148] 1,397] 2,545] 42.80] 45.48] 44.23 N 3756 39.13] 38.41
3 ERNEZ A 1,484] 1,455] 2,939] 317] 291] 608 0 0 0| 248] 263] 511] 565| 554| 1,119]38.07]38.08][38.07] EFE1/hZfk |[33.27]34.38] 33.83
4 [<zr-sEReimEFSY] 3,302] 3,739 7,041] 891] 1,010] 1,901 0 0 0] 604] 765] 1,369] 1,495] 1,775 3,270 45.28 | 47.47| 46 44 | &ssifssi > 4—| 37.40] 38.46 [ 37.97
5 [KIzr=bAHRIFSH]| 2,022] 2,376] 4,398] 577] 660] 1,237 0 0 o] 232] 311] 543] 809] 971] 1,780] 40.01]40.87] 4047 [<I=r-xmERF5+¥] 33.73] 36.08 | 35.03
6 F2/INER 3,266] 3,299] 6,565] 924 878] 1,802 0 0 0] 402] 500] 902] 1,326] 1,378] 2,704] 40.60]41.77] 41.19] E2/ 34 |[36.09]38.29]37.19
7 E BINERR 2602| 2.826] 5428] 747] 722] 1,469 0 0 0| 401] 582] 983] 1,148] 1,304] 2,452 44.12]46.14[ 4517 E3/1hZf  |[38.82]40.17] 39.53
8 FEI3RFER 1,955] 1,940] 3,895] 246] 223] 469 0 0 0| 390] 484] 874] 636] 707 1,343 3253]36.44[3448] FE4/FEH [37.09]38.14]37.64
9 |stRaz—mmEsm| 873] 1,070] 1,943] 318] 413] 731 0 0 0] 106] 136] 242] 424] 549 973[48.57]51.31]50.08|=tres—mmesnm| 48.25(49.12] 48.73
10 FohER 3,413| 3,833| 7,246( 1,067| 1,154] 2,221 0 0 0| 408 522| 930] 1,475[ 1,676] 3,151|43.22]43.73| 4349 FE2d## |38.85/37.90]38.35
11 FEOINER 2,998] 3,191] 6,189] 697] 757] 1,454 0 0 o] 328] 396] 724] 1,025] 1,153] 2,178/ 34.19[36.13[35.19] Ee/ZF# [31.21]32.73[31.99
12 FTINER 1,929( 1,938| 3,867] 552| 556/ 1,108 0 0 0| 225 242| 467| 777| 798| 1,575|40.28]|41.18]|40.73| %E7/hF# [35.52]35.89]35.70
& &t 30,395(33,016[63,411] 8,087] 8,604]16,691 41 61| 102| 4,415 5,557] 9,972[12,543]14,222]26,765] 41.27 | 43.08 | 42.21 & &t 36.58]37.74] 37.18
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FHMEeF12A15BIT BEihREE RFER

19F IR 7E
(BAEHI-AT7E ZL)
n= BEFRL SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3,869 4277| 8,146 935 0980| 1,915 24.17] 2291 2351|EIth&EmR 2158 | 2047 | 21.01
2 |AREE 2,682| 3,072| 5,754 705 839] 1544 2629 2731 2683|AREE 2534 2552 | 2544
3 [FE1/hER 1,484] 1,455 2939 303 275 578 20.42] 18.90] 19.67|F 1/ F#k 1564 | 1481 ] 15.22
4 Kizr-sRemr75Y| 3,302 3,739 7,041 832 956 1,788 2520] 2557| 2539|muuiEmssitas—| 2498 2461 2478
5 <( -5t mRISY| 2,022 2376 4,398 549 624] 1,173] 27.15] 26.26] 2667|<izt=tdmETSY| 2479 2508 24.95
6 |2/ 3,266/ 3,299 6,565 855 821 1676 26.18] 24.89] 2553|F 2/ Fkx 2521 | 2580 | 2551
7 |EI3/NER 2602] 2826 5428 693 677 1,370 26.63] 23.96] 2524|F3/NFERx 2504 | 2440| 24.70
8 |FEIHER 1,955 1,940 3,895 237 214 4511 1212 11.03] 11.58|F4/NFH 1825 | 16.28 | 17.23
9 |=tRaz-—mEmEsm 873[ 1,070 1,943 295 386 681] 33.79] 36.07] 3505|ztrsz—mwesm| 3718 3835 37.83
NEFLEESN 3,413] 3.833[ 7246 998 1,082 2,080 2924] 2823] 2871|F2dhFR 2743 | 2544 | 26.39
11 [FE6/NER 2998 3,191 6,189 662 727] 1,389 2208] 22.78] 2244|F6/NFERk 21.05] 21.14] 21.09
12 [FE7/F8K 1,929] 1,938] 3,867 527 530 1,057| 27.32] 2735 27.33|F7/MFER 2572 | 23.09| 24.44
& &t 30,395| 33,016| 63411 7591 8,111 15702 2497 2457 2476 & § 2382 | 2327| 2354
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

18F%IRTE
(BAEEI- A7 L)
n= BEFL SHEEER (N) BHEAH (A) BEE (%) AIEREZER (%) _
= = 2 = it E:] 3 g 2 S B BErm£ 2 = it
1 |Esrhi&Fr 3,869 4,277 8,146 882 926] 1,808] 22.80| 2165 2219|EIth{&FT 20.37 | 19.22| 19.77
2 |AREE 2682| 3,072] 5,754 674 773 1,447] 25.13| 25.16] 25.15|\REE 2346 | 2408]| 23.79
3 [FE1/hER 1,484] 1,455 2939 289 254 543 19.47] 17.46] 18.48|F 1/ F#x 1483 | 1392 14.38
4 KizrsgRmmr7S5Y| 3,302 3,739 7,041 765 893 1.658] 2317] 2388| 2355[mimuEpsts4—] 2344 2278 23.08
5 [izr=simRTSH| 2022] 2376 4,398 520 584 1,104] 25.72| 2458] 25.10[Kizt-dmETFSY| 23.38| 2384 2364
6 |[F2/hF8 3,266/ 3,299] 6,565 806 755 1561] 2468] 2289 23.78|F2/hFHk 2338 | 2414| 23.76
7 |E3/ER 2602 2,.826] 5428 660 639] 1299 2537 2261 23.93|FE3/NFER 2343 | 2275| 23.07
8 |FE3dhFERK 1,955 1,940 3,895 222 204 426 11.36] 10.52] 10.94|%F 4/NFHR 17.25| 1590 | 16.55
9 |stRaz-—mmEam 873] 1,070] 1,943 275 367 642 3150] 3430 3304|=tmsz-—mzsm| 3500| 3667] 3593
10 |E2dFR 3,413| 3,833] 7,246 931 1,005 1,936] 27.28] 26.22] 26.72|F 20k 25.82 | 2382 ]| 2478
11 |E6/INFER 2998 3,191] 6,189 630 686| 1,316] 21.01] 2150 21.26[F6/MFi 1963 19.70| 19.67
12 7/]\'7’—75'5 1,929] 1,938 3,867 484 495 979 25.09] 2554| 2532|F7/NFERx 2428 | 21.85]| 23.10
& &t 30,395| 33,016] 63411 7,138 7581] 14,719] 2348 2296( 23.21 & § 2235| 21.88] 2210
XS RIDEZRE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

178%IR7E
(BAEEI- A7 L)
= BEF L SHEEER (N) BHEAH (A) BEE (%) AIEREZER (%) _
e = 2 = it E:] 3 g 2 S B BErm£ 2 = it
1 |Esrhi&Fr 3,869 4,277 8,146 800 835] 1,635 20.68] 19.52| 20.07|EIth{&FT 1858 | 17.43| 17.99
2 |[AEfE 2,682 3,072 5,754 608 689 1297 2267 2243] 2254|NREE 2060 | 21.29 | 20.98
3 [FE1/hER 1,484] 1,455 2939 253 233 486 17.05] 16.01] 16.54|5F 1/hFEH 13.64 | 1281 13.22
4 [<zrs®mmmEISy|[  3,302] 3,739 7,041 693 803 1,496| 20.99| 21.48| 21.25|m#uEE Kt 8—]| 21.38] 2058 | 20.95
5 [izr=simRTSH| 2022] 2376 4,398 474 523 9097] 23.44] 2201 2267Kiz=edmEFSH| 2120 2125] 21.23
6 [FE2/hFRK 3,266/ 3,299] 6,565 748 672] 1420 22.90] 2037 21.63|FE2/hFkk 2121 | 2189] 2155
7 |E3/ER 2602] 2,826] 5428 589 569] 1,158] 22.64] 20.13] 21.33|FE3/NFEK 21.34| 2080| 21.06
8 |FE3HER 1,955 1,940 3,895 199 187 386/ 10.18 9.64 9.91|F 4/NFHR 1577 | 14.75| 15.24
9 |stRaz-—mmEam 873] 1,070] 1,943 254 333 587] 29.10] 31.12] 3021|ztrsz—mmesm| 3245 3430| 33.47
N EFLEEEA 3,413 3,833] 7,246 839 882 1,721] 2458 23.01] 23.75|F 2%k 2348 | 2097| 2217
11 |[FE6/hER 2998 3,191] 6,189 580 621] 1201 19.35] 19.46] 19.41|FE6/NFK 18.25| 18.35| 18.30
12 7/]\"r—7~;‘a 1,929] 1,938 3,867 446 451 897 23.12] 2327 23.20|F7/MFER 2259 | 2006 | 21.36
& &t 30,395/ 33,016] 63411 6,483] 6,798 13.281] 21.33] 2059] 20.94 & § 20.39 | 19.84 | 20.10
XS RIDEZRE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

16B5IRTE
(BAEEI- A7 L)
= BEF L SHEEER (N) BHEAH (A) BEE (%) AIEREZER (%) _
e = 2 = it E:] 3 g 2 S B BErm£ 2 = it
1 |Esrhi&Fr 3,869 4,277 8,146 710 732| 1,442 18.35| 17.11| 17.70|EIth{%Fr 16.41 | 15.25| 15.81
2 |AREE 2,682 3,072 5,754 527 586] 1,113] 19.65] 19.08] 19.34|ANREE 18.37 | 18.61| 1850
3 [FE1/hER 1,484] 1,455 2939 230 208 438] 1550] 14.30] 14.90|% 1/hFEH 1229 1119 11.74
4 KizrsgRmmr7S5Y| 3,302 3,739 7,041 603 691 1,294 1826] 1848| 18.38|mmmuEipssit4—| 19.19] 1777 18.44
5 [izr=simRTSH| 2022] 2376 4,398 420 470 890] 2077] 19.78] 2024[Kizt=£d®mEFS¥| 19.23| 1883 19.00
6 |[F2/hF8 3,266/ 3,299] 6,565 657 584] 1241 20.12] 17.70] 18.90|FE 2/NFx 18.76 | 1920 [ 18.98
7 |E3/ER 2,602 2.826] 5428 526 507 1,033] 2022] 17.94] 19.03|FE3/hFH 1941 | 1822 18.79
8 |FE3HER 1,955 1,940 3,895 177 168 345 9.05 8.66 8.86| % 4 /NFHR 1359 | 1251 [ 13.03
9 |stRaz-—mmEam 873[ 1,070] 1,943 228 300 528] 26.12] 28.04| 27.17|ztmrsz-—mmesm| 2961 | 3056 | 30.14
10 |E2dFR 3,413| 3,833] 7,246 758 781 1539] 2221] 2038] 21.24|F2hFEk 20.74 | 18.07 | 19.35
11 |E6/INFER 2998 3,191] 6,189 525 554 1,079] 1751 17.36] 17.43[F6/NFE 16.61 | 16.41 | 16.51
12 7/]\".’—75'5 1,929] 1,938 3,867 404 395 799]  20.94] 20.38] 20.66[F 7/FER 19.93 | 1743 18.72
& &t 30,395| 33,016] 63411 5765 5976] 11,741] 1897 18.10] 18.52 & § 1820 17.35| 17.76
XS RIDEZRE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

16B5IRTE
(BAEEI- A7 L)
= BEF L SHEEER (N) BHEAH (A) BEE (%) AIEREZER (%) _
e = 2 = it E:] 3 g 2 S B BErm£ 2 = it
1 |Esrhi&Fr 3,869 4,277 8,146 710 732| 1,442 18.35| 17.11| 17.70|EIth{%Fr 16.41 | 15.25| 15.81
2 |AREE 2,682 3,072 5,754 527 586] 1,113] 19.65] 19.08] 19.34|ANREE 18.37 | 18.61| 1850
3 [FE1/hER 1,484] 1,455 2939 230 208 438] 1550] 14.30] 14.90|% 1/hFEH 1229 1119 11.74
4 KizrsgRmmr7S5Y| 3,302 3,739 7,041 603 691 1,294 1826] 1848| 18.38|mmmuEipssit4—| 19.19] 1777 18.44
5 [izr=simRTSH| 2022] 2376 4,398 420 470 890] 2077] 19.78] 2024[Kizt=£d®mEFS¥| 19.23| 1883 19.00
6 |[F2/hF8 3,266/ 3,299] 6,565 657 584] 1241 20.12] 17.70] 18.90|FE 2/NFx 18.76 | 1920 [ 18.98
7 |E3/ER 2,602 2.826] 5428 526 507 1,033] 2022] 17.94] 19.03|FE3/hFH 1941 | 1822 18.79
8 |FE3HER 1,955 1,940 3,895 177 168 345 9.05 8.66 8.86| % 4 /NFHR 1359 | 1251 [ 13.03
9 |stRaz-—mmEam 873[ 1,070] 1,943 228 300 528] 26.12] 28.04| 27.17|ztmrsz-—mmesm| 2961 | 3056 | 30.14
10 |E2dFR 3,413| 3,833] 7,246 758 781 1539] 2221] 2038] 21.24|F2hFEk 20.74 | 18.07 | 19.35
11 |E6/INFER 2998 3,191] 6,189 525 554 1,079] 1751 17.36] 17.43[F6/NFE 16.61 | 16.41 | 16.51
12 7/]\".’—75'5 1,929] 1,938 3,867 404 395 799]  20.94] 20.38] 20.66[F 7/FER 19.93 | 1743 18.72
& &t 30,395| 33,016] 63411 5765 5976] 11,741] 1897 18.10] 18.52 & § 1820 17.35| 17.76
XS RIDEZRE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

15818 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) BEEH (N BERE (%) AIERER (%) _
e = 2 z it 2 z it 2 = B BErm£ E:] = it
1 |EMHRFR 3,869 4277| 8,146 632 653 1,285 16.33] 1527 15.77|EIth&FR 1409 | 13.03[ 13.54
2 |AREE 2,682| 3,072| 5,754 458 491 949 17.08] 1598] 16.49|XEfE 16.26 | 16.30 | 16.28
3 [FE1/hER 1,484] 1,455 2939 205 183 388 13.81] 1258] 13.20|F 1/MF#x 10.56 958 | 10.07
4 Kizr-sRemr75Y| 3,302 3,739 7,041 524 595 1,119] 1587] 1591] 1589|@muuifssitrs—| 1675 1501 | 15.82
5 <( -5t mRISY| 2,022 2376 4,398 378 404 782] 1869 1700 17.78[Kizt-dHETFS¥| 17.04] 1618 16.56
6 |F2/NE 3,266/ 3,299 6,565 584 502] 1,086 17.88] 15.22] 16.54|F2/NFKR 1659 | 16.37| 16.48
7 |EI3/NER 2602] 2826 5428 476 442 918] 18.29] 15.64] 16.91[FE3/NFERK 17.13| 1574 16.40
8 |[FE3dhFEHK 1,955 1,940 3,895 161 147 308 8.24 7.58 791 FE4/NFRR 1240 1082 | 1158
9 |=tRaz-—mEmEsm 873[ 1,070 1,943 186 248 434] 2131 2318 2234|ztrss—mmwesm| 2640 2720 26.84
NEFLEESN 3,413 3833 7246 653 662 1,315 19.13] 17.27] 18.15|F2dF#k 1840 | 1524]| 16.75
11 [FE6/NER 2998 3,191 6,189 467 477 944] 1558 14.95| 15.25[F6/NFERK 1516 | 1459 | 14.87
12 |E7/INFERR 1,929] 1,938] 3,867 362 339 701]  18.77] 17.49] 18.13[F7/NERK 18.33| 1587 | 17.13
& &t 30,395| 33,016| 63411 5086 5,143 10229 16.73] 1558 16.13 & § 16.13| 1501 ] 1555
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

14518 7E
(BAEHI-AT7E ZL)
n= BEFRL SHEEER (N) BEEH (N BERE (%) AIERER (%) _
e = 2 z it 2 z it 2 = B BErm£ E:] = it
1 |EMHRFR 3,869 4277| 8,146 523 521 1,044 1352] 1218 12.82|EIth&FR 11.97 | 1088 11.40
2 |AREE 2,682| 3,072| 5,754 378 396 774 1409 12.89] 1345/ NEfE 1422 | 1365 13.91
3 [FE1/hER 1,484] 1,455 2939 173 152 325 11.66] 10.45] 11.06]5F 1/ F#x 8.64 7.27 7.96
4 Kizr-sRemr75Y| 3,302 3,739 7,041 432 475 907] 13.08] 12.70] 12.88[mmmEpskits2—| 14.18] 12.40] 13.23
5 <( -5t mRISY| 2,022 2376 4,398 322 337 659] 1592 14.18] 14.98[Kizt-simETSY| 1423 1274 1340
6 |F2/NE 3,266/ 3,299 6,565 494 425 919 15.13] 12.88] 14.00|F 2/ F#x 1417 | 1378 13.97
7 |EI3/NER 2602] 2826 5428 400 359 759 15.37] 12.70] 13.98|FE3/NERR 1484 | 12.94| 13.85
8 |FEIHER 1,955| 1,940 3,895 133 120 253 6.80 6.19 6.50| 4/ 10.16 8.47 9.28
9 |=tRaz-—mEmEsm 873] 1,070[ 1,943 150 202 352] 17.18] 1888 1812|ztrsz—mmwesm| 2176 2200 21.89
NEFLEESN 3,413] 3.833[ 7246 547 533 1,080 16.03] 13.91] 14.90|F2dF#xk 1524 | 12.38] 13.75
11 [FE6/INER 2998| 3,191| 6,189 415 414 829 13.84] 1297[ 13.39|FE6/hF 13.15| 1237 12.75
12 |E7/INFERR 1,929] 1,938] 3,867 316 296 612] 16.38] 15.27] 15.83|F7/MFERK 1584 | 13.37| 14.64
& &t 30,395| 33,016| 63411 4283 4230 8513 1409 1281] 1343 & 13.68 | 12.34] 12.99
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

13018 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3,869 4277| 8,146 435 428 863] 11.24] 10.01] 1059|Erh{%Fr 9.80 8.80 9.28
2 |AREE 2,682| 3,072| 5,754 311 317 628 11.60] 1032 1091|AEfE 11.01 | 1066 | 10.82
3 [FE1/hER 1,484] 1,455 2939 150 132 282] 10.11 9.07 9.60[ % 1/ 7.22 5.96 6.59
4 Kizr-sRemr75Y| 3,302 3,739 7,041 352 375 727 1066] 10.03] 10.33|Fm#EEKtw 52— 11.57 9.56 | 10.49
5 <( -5t mRISY| 2,022 2376 4,398 266 267 533 13.16] 11.24] 12.12[Kizt=sdtHRTSH| 11.97 9.86 | 10.80
6 |F2/NE 3,266/ 3,299 6,565 426 351 777]  13.04] 1064] 11.84|F 2/ Fkx 11.75| 1128 1152
7 |EI3/NER 2602] 2826 5428 331 287 618] 12.72] 10.16] 11.39[FE3/hFERK 1276 | 1067 | 11.67
8 |[FE3dhFEHK 1,955 1,940 3,895 114 98 212 5.83 5.05 5.44|F 4 INFRL 8.74 7.16 7.92
9 |=tRaz-—mEmEsm 873[ 1,070 1,943 126 158 284] 1443 1477 1462|ztrsz—mnesm| 1788 1772 17.79
NEFLESS 3,413] 3.833[ 7246 467 439 906/ 13.68] 11.45] 12.50|F 20k 12.42 992 | 11.12
11 [FE6/NER 2998 3,191 6,189 360 360 720 12.01] 11.28] 11.63|E6/NF#x 1118 | 1052 | 10.84
12 |E7/INFERR 1,929] 1,938] 3,867 265 247 512 13.74] 12.75] 13.24|E7/NFE#x 1351 | 11.23] 1241
& &t 30,395[ 33,016] 63,411] 3603 3459 7062 1185 10.48] 11.14 & 11.34| 10.00| 10.65
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

120538 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BERE (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = B BErm£ E:] = it
1 |EMHRFR 3,869 4277| 8,146 332 312 644 8.58 7.29 7.91|E S HiRFR 7.68 6.99 7.32
2 |AREE 2,682| 3,072| 5,754 238 242 480 8.87 7.88 8.34| N EEE 8.23 8.18 8.20
3 [FE1/hER 1,484] 1,455 2939 120 108 228 8.09 7.42 7.76|5E 1 /AR 5.57 423 4.90
4 Kizr-sRemr75Y| 3,302 3,739 7,041 271 273 544 8.21 7.30 7.73| A % —]  8.78 7.13 7.90
5 <( -5t mRISY| 2,022 2376 4,398 211 193 404 10.44 8.12 9.19[KIct-bHmRTZY|  9.65 7.84 8.64
6 |F2/NE 3,266/ 3,299 6,565 329 268 597  10.07 8.12 9.09| 2/ 9.15 8.72 8.93
7 |EI3/NER 2602] 2826 5428 270 214 484 10.38 7.57 8.92| E 3/ 10.39 8.44 9.37
8 |FEIHER 1,955 1,940 3,895 89 82 171 455 423 4.39| FE4INERR 7.27 6.12 6.67
9 |=tRaz-—mEmEsm 873[ 1,070 1,943 108 116 224] 1237 1084] 1153|strsz—mwesm| 1419 1299 1352
NEFLESS 3,413] 3.833[ 7246 375 350 725  10.99 9.13] 10.01[F2hZ#k 10.24 7.67 8.90
11 |E6/INFERR 2998 3,191 6,189 289 280 569 9.64 8.77 9.19|F 6/ 9.34 8.52 8.92
12 |E7/INFERR 1,929] 1,938] 3,867 215 186 401 11.15 9.60] 10.37[57/NFEH 10.39 8.96 9.69
& &t 30,395| 33,016| 63411 2847 2624 5,471 9.37 7.95 8.63 & § 9.00 7.79 8.37
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

11BFIRE
(BAEEI- A7 L)
= BEF L SHEEER (N) BHEAH (A) BREE (%) AIEREZER (%) _
e = 2 = it E:] 3 g 2 9 BErm£ 2 = it
1 |Esrhi&Fr 3,869 4,277 8,146 221 190 411 5.71 4.44 5.05|E I mfR PR 5.07 418 461
2 |[AEfE 2,682 3,072 5,754 162 136 298 6.04 4.43 518| A REE 5.29 5.16 5.22
3 |E1/hvER 1,484 1455 2939 94 75 169 6.33 5.15 5.75| & 1 /N2 3.50 2.54 3.02
4 [<zrs®mmmEISy|[  3,302] 3,739 7,041 168 171 339 5.09 457 481 |EEs o 5—]  6.04 4.74 5.35
5 [Kizt=6itHERIS5¥| 2022] 2.376] 4,398 146 126 272 7.22 5.30 6.18[<Ict-bHRTZY|  6.62 5.13 5.79
6 |E2/hER 3,266] 3,299 6,565 235 178 413 7.20 5.40 6.29| EE 2/ N FE4R 6.42 5.67 6.04
7 |[FE3NFR 2,602] 2826] 5428 182 134 316 6.99 474 5.82| £ 3/NER 7.09 5.21 6.11
8 |FE3HER 1,955 1,940 3,895 67 61 128 3.43 3.14 3.29|F 4 /NFRR 473 3.88 4.29
0 |EtRaz-—mmEsm 873 1,070] 1,943 76 74 150 8.71 6.92 7.72|etras—mwEsm| 9.93 8.63 9.21
N EFLES S 3,413] 3,833 7,246 245 203 448 7.18 5.30 6.18|FE2F 6.66 4.81 5.70
11 |[FE6/hER 2,998] 3,191 6,189 197 169 366 6.57 5.30 5.91| 6/ 7.00 5.79 6.38
12 7/]\'7’—75"5 1,929] 1,938 3,867 168 126 294 8.71 6.50 7.60|E 7 /NERR 7.64 6.20 6.94
& &t 30,395 33,016] 63411 1,961] 1,643 3,604 6.45 4.98 5.68 & & 6.15 5.00 5.56
XS RIDEZRE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

10838 7E
(BAEHI-AT7E ZL)
= BEF £ SHEEER (N) HEAH (A) BREXR (%) AIERER (%) _
e = 2 z it 2 =9 B 2 = BErm£ E:] = it
1 |EMHRFR 3,869 4277| 8,146 122 88 210 3.15 2.06 258|ESI R 2.53 1.86 219
2 |AREE 2,682| 3,072 5754 88 64 152 3.28 2.08 2.64| N EEE 2.62 2.52 2.57
3 [FE1/hER 1,484] 1,455 2939 52 42 94 3.50 2.89 3.20[F 1/ 2.27 1.35 1.81
4 Kizr-sRemr75Y| 3,302 3,739 7,041 79 69 148 2.39 1.85 2.10|mig o 9—| 3.26 2.32 2.75
5 <( -5t mRISY| 2,022 2376 4,398 74 62 136 3.66 2.61 3.09[Kict-bmRTSY|  3.73 2.82 3.22
6 |F2/NE 3,266/ 3,299 6,565 129 90 219 3.95 2.73 3.34|F 2 /R 3.60 2.90 3.25
7 |EI3/NER 2602] 2826 5428 103 70 173 3.96 2.48 3.19|FE 3/ 3.90 2.84 3.34
8 |[FE3dhFEHK 1,955 1,940 3,895 40 30 70 2.05 1.55 1.80| E 4/NEH: 2.54 1.91 2.21
9 |=tRaz-—mEmEsm 873[ 1,070 1,943 32 30 62 3.67 2.80 319|ztraz—mssm| 558 458 5.03
NEFLESS 3,413] 3.833[ 7246 135 90 225 3.96 2.35 3.11|FE 2R 3.71 2.32 2.99
11 [FE6/NER 2998 3,191 6,189 113 81 194 3.77 2.54 313|FE6/NFRK 4.14 3.13 3.63
12 |E7/INFERR 1,929] 1,938] 3,867 103 60 163 5.34 3.10 4. 22|57 INERR 4.65 3.30 3.99
& &t 30,395| 33,016| 63411 1,070 776 1,846 3.52 2.35 2.91 & 3.43 2.54 2.97
XS RIDERE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

ORFIRTE
(BAEEI- A7 L)
BER BEF L SHEEER (N) BEEH (N BREE (%) AIEREZER (%) _
- = 5 £ it E: £ E: £ BREm4A 5 £ it
1 |Esrhi&Fr 3,869 4,277 8,146 50 37 87 1.29 0.87 1.07|E LR 1.19 0.63 0.90
2 |AREE 2,682 3,072 5,754 49 35 84 1.83 1.14 1.46| N EfE 1.45 1.48 1.46
3 [FE1/hER 1,484] 1,455 2939 23 17 40 1.55 117 1.36] 5 1 /N8R 0.85 0.54 0.69
4 [<zrs®mmmEISy|[  3,302] 3,739 7,041 33 24 57 1.00 0.64 0.81[mE K 4—|  1.54 0.97 1.24
5 [izr=simRTSH| 2022] 2376 4,398 41 28 69 2.03 1.18 157Kzt kRIS 1.55 0.90 1.19
6 |[E2/hFR 3,266/ 3,299] 6,565 47 27 74 1.44 0.82 1.13|FE 2/ Fk 1.83 1.42 1.62
7 |E3/ER 2602] 2,826] 5428 47 33 80 1.81 117 147\ FE3/NER 1.77 144 1.60
8 |FE3dhFERK 1,955 1,940 3,895 15 14 29 0.77 0.72 0.74|FE 4/ FH8 1.24 0.77 0.99
9 |stRaz-—mmEam 873[ 1,070] 1,943 13 14 27 1.49 1.31 139|ztres—mnxeam| 265 1.83 2.20
10 |[F2d28K 3,413| 3,833] 7,246 57 37 94 1.67 0.97 1.30| 2 0 4% 1.76 1.11 1.42
11 |FE6/INFR 2998 3,191] 6,189 47 39 86 1.57 1.22 1.39| FE6/MVER 1.84 1.32 157
12 %7/]\%7& 1,929] 1,938 3,867 52 27 79 2.70 1.39 2.04|E 7 /N ER: 2.45 1.74 2.10
& &t 30,395/ 33,016] 63,411 474 332 806 1.56 1.01 1.27 & § 1.63 1.15 1.38
XS RIDEZRE LY —BRERRVBRERNERLLE>TEYET,




FHMEeF12A15BIT BEihREE RFER

SHFIRTE
(BAEEI- A7 L)
e BEE g SHEEER (N) BEEH (N BREE (%) AIEREZER (%) _
e = 5 E=S i 5 £ ] E=S BREfmA E:] E=S i
1 |Esrhi&Fr 3,869 4,277 8,146 19 12 31 0.49 0.28 0.38|Eirmf& PR 0.41 0.27 0.34
2 |AERfE 2682] 3,072 5,754 18 9 27 0.67 0.29 0.47|AEEE 0.78 0.60 0.69
3 |E1/hvER 1,484 1455 2939 11 5 16 0.74 0.34 0.54| 5 1 /hEHR 0.19 0.23 0.21
4 |KrsRmmmE759|  3,302] 3,739 7,041 15 6 21 0.45 0.16 0.30|FthiEfs o %—]  0.60 0.26 0.42
5 [Kizt=6itHERIS5¥| 2022] 2.376] 4,398 17 10 27 0.84 0.42 0.61[<Iz=6HETSH| 049 0.28 0.38
6 |[F2/hFE 3,266] 3,299 6,565 16 4 20 0.49 0.12 0.30| E 2/ Fks: 0.59 0.74 0.66
7 |EIINER 2,602 2826 5428 14 11 25 0.54 0.39 0.46| 5 3/ FHx 0.91 0.72 0.81
8 |E3hERK 1,955 1,940 3,895 4 4 8 0.20 0.21 0.21|E 4/ FH: 0.47 0.33 0.40
0 |EtRaz-—mmEsm 873 1,070] 1,943 6 4 10 0.69 0.37 051|atnas—mwEam| 123 0.92 1.06
10 [FE2d%RK 3,413 3,833] 7,246 17 11 28 0.50 0.29 0.39[F 2R 0.71 0.53 0.62
11 |E6/hER 2,998] 3,191 6,189 13 10 23 0.43 0.31 0.37|E 6/ FH 0.69 0.53 0.61
12 7/]\"r—7~§ 1,929 1,938 3,867 18 12 30 0.93 0.62 0.78| E 7/FH: 1.06 0.45 0.76
& &t 30,395 33,016 63,411 168 98 266 0.55 0.30 0.42 & & 0.65 0.48 0.56
XS RIDEZRE LY —BRERRVBRERNERLLE>TEYET,




